(4. 1vc 3 essent1a1 objectives of marketing. 3marks
‘» Answér' Imark for each correct element of the qnswer

a. Ramng jinance to support an investment in new product developrfzent

b. Introducing quality assurance and lean production to improve praduct profitability

c. Trainjng staff to improve customer service standards . ‘ (\/1

05. Cutline the benefits of target marketing. Sfparks

*

: Answer: = : - J
:’féneﬁt; of target marketing are as follows: ( ey
o An dndérs_t_,andi#g»ef the inique charucteristics and needs of the group to be satisfied is reached.

b. A better understanding of company’s competitors is gained because it is possible to detect those who We a

similar selection of target markets. 2marks _

" ¢. An improvement fs possible in an understanding ;)f the changes and developments in the m;eds f’f ta)'ggt .;Vi:.dfket. - /
06. ‘ithvthe. help. of a distinctive table, highlight the difference between Doi‘rie_stic'

’ nd International marketing. - - \ ' ' Smarks
Answe‘r \

Both dr“ iestic and international marketing refer to the Lame marketmg principles. However,

|
there ar ‘e uzdent dissimilarities between the two i

w0
~
2
(<]

Comparison Item Domestic marketing | International marketing
01. | Scale -The size of domestic marketing is | International marketing ~ has
1 _ limited and will eventually dry up endless opportunities and scope
02. | Benefits : As is obvious, the beneﬁts in domestic marketing are less than in
o , international marketing. ‘ :
03. | Sharing of technology | Limited in the use of technology Allows use and sharing of lalest
‘ | | I ‘ ; technologies .
04.' Political ‘felations Has nothing to do with political | Leads to improvement in political
' relations 1 i relations between countries and
. also increased leve! ul” cooperation
as a result _
0S. Barriers T _ There are no barriers. There are many barriers such as
a cross cultural differences,
language, currency, '}Faciitions and
customs.

e -y

i
NB: 1mark for each line well explained
|
\

1
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»_'7.*; EXplain clearly the importance of SWOT Analysis for a company.
Answer:

i,

4mairks
SWOT analysis: Srréngth:, Weaknesses, Opportunities and 'Tl.treats'.

SWOT analysis is used Jfor identifving those areas where an organization is strong, where it is weak, the major opportunities
the company can explore and the threats. Tmark I S : :

—

SWOT analysis is a useful tool for assessing the

strategic position of a business and its enuironﬁient,
f m‘SWOT Analysis helps a company to know

Lhere it stands by exploring key issues UGtk

2

nment in marketirng. | Gm'a.'.rksll -

~ 08. Differentiate Macro and Micro cnvirj
Answer: | (

Micro-environment Macro-environment

Composition factors | Is made up of factors that are close to | In general macro environment factors are not

the firm and affect it on a day to day | close to the firm. Dis ATk
basis  Q.5Smark )

Usually  Micrc-environment  factors

Macro envirenment factors could be natidnal

interact with the firm. 0,5p7at% \ or global measures and affect many industries -,
\ : : - o
P : and groups.  [REEK
Some of the factors within the micro | Macro environment factors are uncontrollable
4

. environment can be controlled while

| _ others cannot. 0.5mark -

; | Scope - examples Customers 0.Smark, Banks DSINarR |

‘ { : and Trade unions Q.SAarg /and VAT changes) DBiiidrk, and Technological
I Competitors 0,5mark ' change [F¥RaH.

factors but still influence company strategy.

S
————— et

{ 0%, What do you mean by latent demanci? 2marks |
Answer: o

Latent demand means the desire or preference which a

fonsumer is unable to satisfy due to lack of information éboit

the product's availability. or lack of money, &

1C. When a person or moral person is said to be bankrupt?
Answer: |

Zmérks

A person or other moral person is said to be bankrupt when he cannot repay his/her debts he/she owes to
creditors.
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11. What do you think about feedback i In\communication system? 2marks /
Answer: |
Feedback communication is conc Iuded when a seller gels a reaction from a customer after buying on how well or '

|
badly Is a service or a product; and how it could be im roved,

12. Briefly, explain how mass media is| an important tool of commumcatxon to '

inform the customers about a product or Service. '3maxfks
Answer:

Mass media as a tool of communication:
*  Speed of Information about a product or service, | Imark : -
® Access of information to many people, Imark

e It shows the place location of Product or service,  Imark

13. State the characteristics of service? . - ' 3m§.rks 1

. Answer: | o T , | ’ ) \
| 1 Lack of ownérship & 4) P ishabili& -

2) Intanéibility e 5) H ei\:ogeneity — _ ‘

3) Inseparchility < 6) Variability. ; \\

0.Smark for each correct element,-of the answer. — . “

Sectmn II Choose and Answer any Thlree (3) questions 30marks /

|
N
b
-

l

I

14 Deﬁne Commercial Law and identify the major factors that highlight its necessity . |
in Rwandan Business commumty ’ - 10marks |
Answer: | o
Commerczal law is referred to the branch of law that sets rules-applicable to traders in their éxercice of
business. 3marks |

(i) It helps speed up and simplifies businessvoperLtions e.g. simple exchange of letters, calls electroru'c
commerce, etc. Imark '

(ii) It offers protection of goods, business transactions and ensures that contracts between parties are not
breached anyhow. Imark

(iii) It ensures that technical works are designed correctly by specialists.  Jmark
(iv) Propels mutual trust among business people. Hmidrk
(v) It helps to maintain a spirit of solidarity among business people. JImark

(vi) It determines the standard of living of people sin«*e it adjust production, distribution and services on ‘
the market. 1mark

(vii) Establishes guidelines and rules on how busines‘s is conducted [iRGrk \
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/ 17. Draw and explain clearly the 'stage of product life cycle. 10marks

, Answer:.

- e e

L L SO U,

- ew e - Y - e o

—r—d ety a0
—-—
_——

3>

;
t

:Market time 3marks

- o em o o o e e o

- wm e ew e we

. Introduction Growth Maturity Decline

The main stages of the product life cycle are: ‘

®  Introduction ~ researching, developing and then launching the product, \ .

*  Growth — whén sales are increasin al their fastest rate. Em

*  Maturity - sales are near their fghest, but the rate of growth is slowing down, e.g. new com t');ors in market or
saturation. I;Smark ‘ ! \

*  Decline - final stage of the cycle, whelp sales begin to Jall. A ‘

The product life cycle describes the stages \ product goes through from when it was Sirst thought of until %1@ is removed

Jrom the market. Not all products reach ihi{ Jinal stage. Some continue 1o grow and others rise and fall,

18. Market segmentation enables target market. Discuss with clear examples. 10marks

Market segmentation enables companies lo target different categories of consumers who perceive the ﬁl[ value of certain
products and services differently from one another. LHGTK I ' o
Generally three criteria can be used 1o identify different market segmentsx m |

1) Homogeneity (common needs of the group within the segment) m

2) Distinction (unique need from other groups) LImcrkd

3) Reaction (similar response to market ]jmg[]q ‘

Marketing segmentation allows knowing different customers’ needs and wants through the above criteria and helps

determine which §roup to focus on. |, Imarks

In brief, 1arget market helps to decide how 1o satisfy those different customers’ needs and wants.m

!
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Section III: Chobse and Answer any one (1) question ~ 15marks

*19. With the help2 of a distinctive table, highlight the difference between ‘Sales and
g - Agreement’ of Sale” . ‘ ~ 15marks
Answer o |
; - _| Sales ‘ Agreement of Sale N
Transfer of property The property in the goods passes | To sell the transfer of property takes i
lmark | from the seller to the buyer at the | place at some future time or until
. time the contract is made [ABIQR | some conditi'or‘s is fulfilled. 5
Nature of Contract ' No property passes whereas a | An agreement to sale is executor.
m . sale is an executed contract plus | contract pure and simple KLl
a conveyance. 1mark
Risk of loss The buyer immediately becomes | The seller remains the owner and
Yimiark . | the owner of the goods and the | the risk is with|him.
| risk as rule passes to the buyer. - ’
‘ \ Imark \ \
Insolvency of the bv.|yer If the buyer is adjudged an |If the buyei has already patd the
Tmack : insolvent the seller in absence of | price and ' *w seller becomes

‘ lien over the goods is bound to insolvent the bx}ryer can claim only a
_ \ deliver the goods to the official | rate able dividend and not the
\ receiver. lmark goods. ' v o
v} The seller becomes inéoluent the | If the buyer'hfzs already paid the

Insolvency of the selle

C g RIS

buyer is entitled to receive the | price and the seller becomes
goods from the official receiver or | insolvent the buyer can claim only a
[ any government appointee for fate able diJidend and not the
that as the property of goods is | goods. [ §i7777 4

with the buyer  1mark
pmarks Smarks

“1Smarks

20. Supposed you are a seller in Kigali city and you are facing a great number of

customers of different nceds and wants. What could you do in order to handle

- that issue? (Minimum 1} page).  15marks

\ |
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- Main points in the answer:

Answer:

* Market segmentation (different needs and wants from various customers) inacks

e Target market (choosing the most profitable customers): BHIGLES

» Increase sales accordingly;| Smarks

21. “The customer is not dependent on us, we are dependent on him”. Discuss

(Minifrium 14 page) ‘ ( 1 15marks

Answer:
Key points:

A customer is the most mzportam visitor on our premtves he is not an interruption in our work but he is
the purpose of it 3m arEs

A customer is not an outszder in ulf business but he is a part of it §mgr] \__

Also we are not doing him a fav ur\ by serving him; he is doing us a favour by giving 18 a\n opportunity -

to do so 3marks.

If we give him a customer care he w

|

!l talk to the potential customers about our service

in brzef zf we have good customer cLzre many customers will visit us and we will make profit; but tf our

customer care is-bad no one will Visit our company and we will close our business ERioLKs 50 our
business should be increased based on image reflected outside [IiaLk.

o ]

\
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